Multiply decimals by powers of ten

Name:

1.593 x 1000000 =

10.439 x 10000 =

Date: Score:

3.075 x 100000 =

2202 x 10 =

3.533 x 100000 =

6.564 x 1000000 =

6.137 x 100000 =

7.02 x 1000 =

3.4477 x 10000 =

3.11 x 100000 =

4.575 x 100000 =

8.943 x 10 =

1.444 x 100000 =

9.534 x 10 =

6.285 x 10000 =

3.415 x 100 =

2.358 x 100000 =

9.517 x 10000 =

5.187 x 10000 =

8.798 x 1000 =
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Multiply decimals by powers of ten

Name: Date: Score:
1.593 x 1000000 = 1593000 3.075 x 100000 = 307500
10.439 x 10000 = 104390 7.02 x 1000 = 7020
2.202 x 10 = 22.02 3.4477 x 10000 = 34470
3.533 x 100000 = 353300 3.11 x 100000 = 311000
6.564 x 1000000 = 6564000 4.575 x 100000 = 457500
6.137 x 100000 = 613700 3.415 x 100 = 341.5
8.943 x 10 = 89.43 2.358 x 100000 = 235800
1.444 x 100000 = 144400 9.517 x 10000 = 95170
9.534 x 10 = 95.34 5.187 x 10000 = 51870
6.285 x 10000 = 62850 8.798 x 1000 = 8798
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